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Flow Calibration Performed By
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Notes/Suggested Service:

Feehemed optieal beach colibration

£ Annual Breath Tube Screen 1.0
Q  Return from CMI g Replace External O-Rings Flow Column # VE‘D
O Return from Enforcement Instrument Set Up Verified Q 5L/min- Y
Electronics “ﬁ R-Value /'7{{ O 15L/min - S3mg“b" 20
d Other g_ Flow Verification (L/s) , i a a}jglf 16 7
Visual Inspection: Flow Column # AT PI103 Q R-Value Toss:
o Case . Handle 32mm _+ | (.139-.169) | O Post Calibration Ver:ﬁc&i@g{[us)
OLC Dry Gas Holder ~_OLC Feet 36mm s )ds 1 _(.156 - .190) Flow Column # m
< Keyboard/Plug << Back/Plugs 53mm _, 23 Y (.228 - .278) 32mm (.139-.169)
VT Screws tight (Jl<Breath Hose | _ , 103mm 505  (.447 - .547) 36mm (.156 - .190)
Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: Gauge ID# 254 27] 103mm (.447 - 547)
o Power cord Stability Checks Maintenance Performed By
O Printer Cable Simulator Serial # Lot #/Exp U Battery Replacement
O Other 0.05 i H01(203D ] | O Dry Gas Regulator Replacement
S03e2 A-L-1y U Breath Tube Replacement
0.08 " O Other
Notes: Dl 19 il f} ; I)(" «l [ISB Quality Checks Cont. Performed By
0.20 ] b o Simulator Temperatures °C
DEAsSY %ﬂé—?%c External Digital Therm. ID#: 501_%3. 1053
0.08 DGS N/A AGL Al 7Y B 34°C+-2 Serial#: SDF(IX
i 49-22-8 DK 34°C+-2 Serial#t: SDFU S
B 34°C+-2 Serial#: SLDDIDD
Calibration Adjustment Performed By _ 5[ Department Inspection Performed By _ <
U calibration Adjustment N/A | Barometric Pressure !: %O 5 Gauge
Calibration Adjustment Complete ¥ S8 21 =) Instrument
Barometric Pressure Gauge !_00“5 D# 28 ‘f‘a I .
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 20 1g - c
0.000 SHIO 19 N/A N/A Acetone Stock Solution Lot # 2017-A
0.040 5DIOIS I {1 290 /0/‘21“3 Simulator Ser(iai l;;gt;;z)
18Dy | 17000 | 2[14/19 ]| e Go8T
0200 |SDiofl | {7090 | 2]a4li9]| 5o 23905
b.be ORIZTS | @410 | (2[19]i8||[ves SO F
0.080DGS | N/A 16&i5¢50AR 7-5-j7||[0.20 SD3933
Post Calibration Adjustment Stability Checks
Simulator Serial Number | Lot Number | Expiration ||| Attachments
0.05 SDIG A | 013D 23-5-i% ™ Form41 X calibration Adjustment
0.08 ST 4 [2iuie | i-16- i5 G Pre-Stability Tests Post-Stability Tests
0.20 SD39322 |20 wede [4-5-18 O Flow Calibration O Other
0.08 DGS | N/A AQU2ub05 |G -22 -5
N

?[_ Instrument Complies with Chapter 11D-8, FAC
U instrument Does Not Comply with Chapter 11D-8, FAC
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